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M.Com. DEGREE EXAMINATION — 

JUNE 2009.

(AY 2003 and CY 2004 batches only)

First Year

APPLIED BUSINESS STATISTICS 

Time : 3 hours Maximum marks : 75

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

All questions carry equal marks.

1. What is meant by stratified random sampling? and 

explain when it is to be used?

£S£kzu Gk©õv› Gß ÓõÀ Gß Ú? C ¢u Gk©õv›ø¯ 
G¨ ö £õÊ x  E£÷̄ õQUP»õ® Gß Ö Â Á›.

2. Write a short note on standard error of estimate.

{̄ ȭ ¤ øÇ ©v¨ ¤ kuÀ £ØÔ ]Ö SÔ¨ ¦ ÁøµP.

3. Discuss various theorems of Probability.

{PÌuPÂ ß  ö ÁÆ÷ÁÖ ÷Põm£õkPøÍ Â ÍUSP.
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4. The incidence of occupational disease in an industry 

is such that the workmen have 20% chances of suffering 

from it. What is the probability that out of six workmen 

4 or more will contact the disease?

J̧  ö uõÈ»õÎ  20%  ö uõÈÀ\õº ÷|ṍ Áṍ £h Áṍ ¨ ¦ 
EÒÍx .  6  ÷£ºö Põs h  SÊ Â À  4  AÀ»x  AuØS 
÷©Ø£m÷hõº ÷|ṍ Áṍ £h EÒÍ {PÌuPÄ  Gß Ú?

5. The  simple  co-efficient  correlations  between  two 

variables  out  of  three  are  as  follows 

6.07.0,8.0 231312 === rrr .

Find the partial co-efficient of correlations 3.12r .

‰ ß Ö ©õÔ¼ PÎ À C µs k ©õÔ¼ PÎ ß  \õuõµn 
Ehß  ö uõhº¦  R÷Çö PõkUP¨ £mkÒÍÚ  AÁØÔ¼ ¸
¢x

6.07.0,8.0 231312 === rrr

£SvEhß  ö uõS¨ ¦ ö PÊ  3.12r  PnUQkP.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

All questions carry equal marks.

6. A can solve the 90 percent of the problems given in a 

book and B can solve 70 per cent of the problems given 

in the book and C can solve 60 per cent  of  problems 

given in the book. What is the probability that atleast 

one of them will solve the problem selected at random.
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J̧  ¦zuPzvÀ  ö PõkUP¨ £mkÒÍ  PnUSPÎ À  A 

Gß £Áº 9 0%  PnUSPÐ US  Â øh  Põs QÓõº.  B  

Gß £Áº 7 0%  PnUSPÐ US Â øh Põs QÓõº ©ØÖ® C  

Gß £Áº 6 0%  PnUSPÐ US  Â øhPõs QÓõº.  J̧  
PnUøP  ¯õµõÁx  J̧ Áº Â øhPõÚ  EÒÍ  {PÌuPÄ  
¯õx ?

7. The  number  of  defects  per  unit  in  a  sample  of  

330  units  of  manufactured  product  was  found  as  

follows :
No of 

defects

0 1 2 3 4

No. of 

Units

214 92 20 3 1

Fit a Poisson distribution to the data and test for 

goodness of fit.

330  A»SPÒ  EÒÍ  J̧  ö £õ̧ Î ß  EÒÍ 
SøÓ²ÒÍ ö £õ̧ ÒPÎ ß  Gs oUøP ¤ß Á¸©õÖ

SøÓ²ÒÍ 
ö £õ̧ Ò

0 1 2 3 4

ö £õ̧ ÒPÎ
ß  

Gs oUøP

214 9 2 20 3 1

C ÁØÔ¼ ¸¢x  £ṍ éõß  £µÁø»  PnUQmk Auß  
uµ©v¨ ¤ møh B Ä́  ö \ Ṕ.

8. Calculate  the  Spearman  Rank   Correlation

co-efficient for the following data. 

X : 22 28 31 23 29 31 27 22 31 18
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Y : 18 25 25 37 31 35 31 29 18 20

R÷Ç  ö PõkUP¨ £mkÒÍ  Â Áµ[PøÍ  ö Põs k 
ì¤ ¯º÷©ß  Ehß  ö uõhº¦ ö PÊ øÁ PnUQkP.
X : 22 28 31 23 29 31 27 22 31 18

Y : 18 25 25 37 31 35 31 29 18 20

9. You are supplied the with the following data only

Variance of 9=x

Regression equation :

0107920

033540

=−−
=+−

YX

YX

Find the mean values of X and Y

The  standard  deviation  of  Y  and  The  Co-efficient  of 

correlation between X and Y.

RÌPõq ®  Â Áµ[PÒ  ö PõkUP¨ £mkÒÍ  Xß  
vmh Â »UP ÁºP®   : 9  

ö uõhº÷£õUS÷PõkPÒ :

0107920

033540

=−−
=+−

YX

YX

Põs P 

X,Y ß  \µõ\› 

Yß  vmhÂ »UP®
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Ehß  ö uõhº¦ ö PÊ .

10. The  figures  relates  to  the  number  of  refrigerators 

sold by 4 salesmen in three months is given below

May 16 8 12 14

June 14 10 10 6

July 4 10 8 8

Do the data indicate that the sales in the three months 

are significantly different (Given F value for 2 and 10 

d.f. at 5% lelvel of confidence 3.98)

|õß S  Â Ø£øÚ¯õÍºPÒ  ‰ ß Ö  ©õuzvÀ 
Â Ø£øÚö \ ú  SÎ º \õuÚ  ö £miPÎ ß  Gs oUøP 
RÌÁ¸©õÖ  :

÷© 16 8 12 14
ãß 14 10 10 6

á
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balances  have  been  found  be  normally  distributed.  

(2 values are 0.33=0.1293, 1.66=0.4515 2.33=0.4898).

(a) What  percentage  of  personal  cheque  account 

customers  carry  average  daily  balances  in  excess  of  

Rs. 800.00?

(b) What  percentage  of  customers  carries  a  balance 

Rs. 200.00 or lower?

(c) What percentage of customers carries a balance of 

more than Rs. 600.00 and less than Rs. 800?

J̧  Qµõ©  Á[Q  uÚx  ÁøµJø»  PnUSPÐ US 
÷\øÁ Â ø» ©ØÖ® Ámi ö \¾ zx ® Áøµ• øÓ £ØÔ B

Ä́  ö \ úvÀ  RÌPõq ®  Â Áµ[PÒ 
Ps hÔ¯¨ £mhx . \µõ\› J̧  |õÒ PnUS{¾ øÁ  ¹. 
5 5 0. vmhÂ »UP® ¹. 15 0  J̧  |õÒ PnUS  {¾ øÁ 
JÊ [S• øÓ¯õÚ £µÁ»õP EÒÍx . C ÁØøÓ ö Põs k 
( 2  ©v¨ ¦  0.33  =  0.129 3.  
1.6 6  =0.45 15 , 2.33=0.489 8)

( A) GzuøÚ  \uÂ u  ÁõiUøP¯õÍº \µõ\›̄ õP
¹. 800US AvP©õP EÒÍÚº.

( B ) GzuøÚ  \uÂ u  ÁõiUøP¯õÍº PnUSPÒ 
¹. 200US SøÓÁõP EÒÍÚº.

( C ) GzuøÚ  \uÃu  ÁõiUøP¯õÍº 6 00US® 
800US® C øh¨ £mk EÒÍÚº.

12. Explain  the  multivariate  analysis  and  uses  in 

managerial decision making.
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£À{ø»  ©õÔ¼ PÎ ß  £S¨ £ṍ Ä  • øÓPøÍ 
Â ÍUQ  AÁØÔß  ÷©»õs ø©  wºÄ PÎ À £¯ß £õmøh 
Â ÍUSP.

—————
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